
Notes Chapter 2 
 

Rate of change = 
𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡 𝑣𝑎𝑟𝑖𝑎𝑏𝑙𝑒 (𝑦)

𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑖𝑛𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡 𝑣𝑎𝑟𝑖𝑎𝑏𝑙𝑒 (𝑥)
  

 

Slope = 
𝑟𝑖𝑠𝑒

𝑟𝑢𝑛
 

 

Slope formula 𝑚 =
𝑦2−𝑦1

𝑥2−𝑥1
 

 

Example: given two points, find the slope between them, (−2, 3), 𝑎𝑛𝑑 (−6, −4) 

 

𝑚 =
−4 − 3

−6 − (−2)
=  

−4 − 3

−6 + 2
 =  

−7

−4
 =  

7

4
 

 
 

 
 

 

When finding the slope of a graphed line 

find the points that cross the 

x-lines, y-lines, and graphed line           y-line  graphed line 

all together at one place. 

 

 

So using points: 

(0,1) and (1,3) 

would be points 

that could be used 

in the slope formula          x-line 

 

 

            x-line 

 

 

 

 

 

 

 

 



Each pair of points lies on a line with the given slope.  Find x or y. 
 

(7, 4), (3, 𝑦); slope =  
1

4
 

 

Plug in every into the slope formula:  𝑚 =
𝑦2−𝑦1

𝑥2−𝑥1
 

 

7 = 𝑥1  4 = 𝑦1  3 = 𝑥2  y = 𝑦2  
1

4
 = m 

 

Plug values in: 
1

4
=

𝑦−4

3−7
  simplify: 

1

4
=

𝑦−4

−4
 

 

Multiply each side by: (−4)  (−4) (
1

4
) = (

𝑦−4

−4
) (−4)  simplify: −1 = 𝑦 − 4 

 

Add 4 to both sides: −1 + 4 = 𝑦 − 4 + 4  simplify: 3 = 𝑦 

 

(𝑥, 5), (−3, 6); slope =  −1 

 

Plug in everything into the slope formula:  𝑚 =
𝑦2−𝑦1

𝑥2−𝑥1
 

 

x = 𝑥1  5 = 𝑦1  −3 = 𝑥2  6 = 𝑦2  −1 = m 

 

Plug values in: −1 =
6−5

−3−𝑥
  simplify: −1 =

1

−3−𝑥
 

 

Multiply each side by: (−3 − 𝑥) (−3 − 𝑥)(−1) = (
1

−3−𝑥
) (−3 − 𝑥)  

 

simplify: 3 + 𝑥 = 1 

 

Subtract 3 to both sides: 3 − 3 + 𝑥 = 1 − 3  

 

simplify: 𝑥 = −2 

 

Common dependent and independent variables: 
 

Time: minutes, hours, years, etc.      is most often independent (x) 

 

Cost, height, distance:       is most often dependent (y) 

 

Ask yourself if it is miles per hour or hours per mile?   

Miles per hour, so miles is dependent and hour is independent. 

 

Ask yourself if it is cost per pound or pounds per cost?   

Cost per pound, so cost is dependent and pounds is independent. 

 

Formula’s 
 

Slope Formula:   𝑚 =
𝑦2−𝑦1

𝑥2−𝑥1
 

 

Slope-intercept Form:  𝑦 = 𝑚𝑥 + 𝑏 

 

Point-Slope Form:  𝑦 − 𝑦1 = 𝑚(𝑥 − 𝑥1) 

 

Standard form:   𝐴𝑥 + 𝐵𝑦 = 𝐶 

 

In standard form:    A is positive 

    A and B are NOT fractions or decimals 

 

 


